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Find the length of RS.
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Use the diagram. DE is the perpendicuiar hisector of AC. Find the
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6. FinddD =74
7. FindBC. B¢
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Draw AE with the given iength. ongtruct the.perpehdicuiar bisector
and choose point D on the perp ndiculaigisecto_:fo that the distance
between D and ABis 2 inch\eé.\easure AD and BD.
16. AR = 2 inches £
A E.f\'} iﬁffﬂif Q“’%
s b #
8@ AN Wig;%
- 1 .
A 3
:-“ﬁ‘y//
D 4
T S
e A e
In the daagram the perpendicular bisectors of /A ABC meet at point G and Hivea ’H Lo
are shown dashed. Find the indicated measure, T

13, Find4G. D5 14, Find BD. 20

15, FindCF.QL{fr- 16. FindBG. 0.5

7. Find CE /57 18 FindaC. M5
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15. GIVEN: AFJG= AFJT

PROVE: HI = HG
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In Exercises 1-4, find the values of x and v.
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